BERREN
. Lt=10760

[ P3| 1150 3100 260 3100 1150

] | [ 1] |

= L] 9 L] b

| lo] | o |
=
[a]
s s
g [ 1] d [ ] 4
[ | L] |
BERTER
Lt=10760 o TRV - EERR
2 5360 5360 2 ‘ BIER (a5 )— MHT)
D=4801 610 610 _ RIOEFRRATIERE bR S (kN/ i) it A (kN/mi) @
30 50 100 30 50 100
_ ] = e === a*bla-b|a-b| a'b | a-b| a-b
134 | /E 134 o] 0 0o =70 1 48 54 910 | 810 | 670 430 410 410 @
LIXSITY N 6L |
ST WY >
N7, 7z ZZ ZZ ZZ 7 i
Hltd La{_l ‘ Lol Lol ‘ 8 Lol [b] @
67 4666 6 1150 3100 260 3100 1150 A ) FEEREOBA

BIEBROSE {E}

SR EHER EEE R E[E z|r R__&| @REm B

- % YEK
¥ = TR f—f—F TR YA = 5 a AR ap

B 60547 Mty b ZE 5. 5448 L S eewesy ® -1




